
Instructions

050-A025-52 and Above

TG700 TV Signal Generator Platform

RFI Filter Replacement

075-A014-51

��������	���
075A01451

Warning

The servicing instructions are for use by qualified
personnel only. To avoid personal injury, do not
perform any servicing unless you are qualified to
do so. Refer to all safety summaries prior to
performing service.

www.tektronix.com



Copyright © Tektronix. All rights reserved. Licensed software products are owned by Tektronix or its subsidiaries or

suppliers, and are protected by national copyright laws and international treaty provisions.

Tektronix products are covered by U.S. and foreign patents, issued and pending. Information in this publication supercedes

that in all previously published material. Specifications and price change privileges reserved.

TEKTRONIX and TEK are registered trademarks of Tektronix, Inc.

Contacting Tektronix

Tektronix, Inc.

14200 SW Karl Braun Drive

P.O. Box 500

Beaverton, OR 97077

USA

For product information, sales, service, and technical support:

� In North America, call 1-800-833-9200.

� Worldwide, visit www.tektronix.com to find contacts in your area.



TG700 RFI Filter Replacement Instructions
1

Kit Description

This kit provides parts and instructions to replace the RFI filter of your TG700
TV Signal Generator Platform.

This document supports Tektronix modifications: BV4401, 443, 1666, and
ECR30604.

Products

TG700 J310xxx and below

Minimum Tool and Equipment List

Required tools and equipment Description

Screwdriver handle (magnetic) Accepts Phillips--driver bits

#1 Phillips tip Phillips--driver tip for #1 size screw heads

#2 Phillips tip Phillips--driver tip for #2 size screw heads

Nut driver 7 mm Standard tool

Kit Parts List

Circuit/figure
number Quantity Part number Description

-- -- -- 1 ea 119-7255-xx FILTER,EMI; AC LINE FILTER

-- -- -- 1 ea 174-C019-xx CA ASSY,SP,ELEC

-- -- -- 1 ea 195-3990-xx LEAD,ELECTRICAL

-- -- -- 1 ea 075-A014-51 TECHNICAL MANUAL: INSTRUCTIONS,TG700
RFI FILTER REPLACEMENT KIT



Kit Description

2
TG700 RFI Filter Replacement Instructions



TG700 RFI Filter Replacement Instructions
3

Installation Instructions

These instructions are for personnel who are familiar with servicing the product.
If you need further details for disassembling or reassembling the product, refer to
the TG700 TV Signal Generator Platform Service Manual (Tektronix part
number 070-A800-XX).

CAUTION. To prevent static discharge damage, service the product only in a

static-free environment. Observe standard handling precautions for static-sensi-

tive devices while installing this kit. Always wear a grounded wrist strap,

grounded foot strap, and static resistant apparel while installing this kit.

Replacing the RFI Filter

Perform the following procedure to replace the RFI filter:

1. Set the TG700 so its bottom is down on the work surface and its rear is
facing you.

2. Use a screwdriver with a #1 Phillips tip to loosen the two screws securing
the power supply module to the mainframe.

3. Pull the module slowly in a horizontal direction back from the mainframe.

4. Use a screwdriver with a #2 Phillips tip to remove the screw securing the top
cover to the chassis. See Figure 1.

5. Lift the cover up and away from the chassis to complete the removal.

6. Unplug the cable from the fan at J120 on the A40 LAN board.

7. Unplug the cable from the A30 POWER CONNECT board at J110 on the
A40 LAN board.

8. Use a screwdriver with a #2 Phillips tip to remove the three screws securing
the A40 LAN board to the chassis. See Figure 1.

9. Lift the board up and away from the chassis to completely the removal.

Removing the Power
Supply Module

Removing the A40 LAN
Board



Installation Instructions

4
TG700 RFI Filter Replacement Instructions

A40 LAN board

RFI filter

Top cover

J120

J120

Ground lead

J110

Figure 1: Top cover, A40 LAN board, and RFI filter removal

10. Unplug the cable from CN1 on the power supply.

11. Use a 7 mm nut driver to remove the nut securing the ground lead to the
chassis. See Figure 1.

12. Use a screwdriver with a #2 Phillips tip to remove the two screw securing
the RFI filter to the chassis. See Figure 1.

13. Pull the RFI filter away.

Removing the RFI Filter



Installation Instructions

TG700 RFI Filter Replacement Instructions
5

14. Use a screwdriver with a #2 Phillips tip to install the two screws securing the
RFI filter to the chassis.

15. Use a 7 mm nut driver to install the nut securing the ground lead to the
chassis.

16. Connect the cable to CN1 on the power supply.

17. Reconnect the cable from the A30 POWER CONNECT board to J110 on the
A40 LAN board. When reconnecting this cable, make sure that it is
completely within the cable guide.

18. Reconnect the cable from the fan to J120 on the A40 LAN board.

19. Use a screwdriver with a #2 Phillips tip to install the three screws securing
the A40 LAN board to the chassis.

20. Use a screwdriver with a #2 Phillips tip to install the screw securing the top
cover to the chassis.

21. Insert the power supply module into the slot, paying attention to the module
orientation.

22. Push the module in until the connector board of the module is firmly
engaged with the main board of the mainframe.

23. Use a screwdriver with a #1 Phillips tip to tighten the two screws securing
the power supply module to the mainframe.

� End of document �

Installing the Replacement
RFI Filter

Installing the A40 LAN
Board

Installing the Power
Supply Module





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


